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PPTION-A

(Programming in Java)

Paper : CSC-RE-6Qi6 / TCA-RE-6016 / TIT-RE-6016

1. Answer tJie following questions as directed:

1x7=7

(a) Full form of JDK is .

(Fill in the blank)

(b) All classes in Java are inherited from

object class. (State true or false)

Java ̂  >l<PCcil class object class ̂

iriherit^^l ('QWC^^pWf^)

(c) The datatype is used to store, only
two possible values : true or false.

(Fill in the blank)

^  ̂ <I5R<i'^oi datatype
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(d) The hew keyword is used to create an
object. (State true or false)

object new ke3rword

(e) is a special method that is used
^  to initialize objects. (Fill in the blank)

method Rwl object ̂
'STR <pR<1C01 ^ I .

(f) string objects cannot be changed once
created. (State true or false)

*

String object •'isiR <pR<i

(g) The finsdly block always executes.
(State true or false)

Finally block execute ̂ 1

2. Define the following terms : 2^4=8

(a) Polymorphism

(b) Type casting
(c) Abstract class^

(d) Interface
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3. Answer any three of the following questions :
.5x3=15

^ #t«tf S

(a) Write any five features of Java.

Java ̂  ^ I
«* .

(b) Write in brief about class, object,
abstraction, encapsulation and
inheritance.

Class, object, abstraction, encapsulation
inheritance ̂  I

(c) What is constructor? Write any three
rules defined for constructor. 2+3=5

Constructor 1% ? Constructor ̂  Rc^lal

(d) Write in brief about the access modifiers
— public, private, protected arid default.

Public, private, protected default

access modifier ̂  I

(e) Write a program to print sum and
products of an integer.

digit
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4. Answer any three of the foilowing questions:
10x3=30

(^i<l>lMt /3ff5/ sRW %.

(a) Write a brief description of basic
datatypes used in Java.

Java ̂  data type C4W

(b) Differentiate between method
overloading and method overriding. Give
example.

Method overloading method

overriding ̂  I %rf I

(c) Write a brief description of any five string
class methods.

String class-^ Rc<Pjc^f method-^ ̂

(d) Write a Java prograih to find transpose
of a given matrix.

matrix-^ transpose Java Sfsft^

15r«tti ■ ■ .

(e) What are different types of exceptions ?
Give a brief description of keywords used
to handle exception.
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RRj:;! sNW exception 1% ? Exception
keyword

(f) Write a Java program to display a
rectangle and a circle in an applet
window.

Applet window ̂  ̂  ^
^sitRj^ Java I ■
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OPTION-B

(Computer Networks)

Paper : CSC-RE-6026 / TCA-RE>^026 / TIT-RE-6026

1. Answeh the following questions: 1x7=7

(a) Give port number of POP and SMTP.

(b) What is NIC?

(c) WhatisUDP?

(d) What is bit rate ?

(e) Define TCP.

(f) Define end-to-end encryption.

(g) Define gateway.

2. Answer the following questions: 2x4=8

(a) What is frame ? What is receiver ?

(b) Define computer networks.

(c) What is bandwidth ? What is latency ?

(d) Why are protocols needed ?

3. Answer the following questions: (any three)
5x3=15

(a) Describe packet switching. Give
example.

(b) Differentiate between virtual circuit
network and circuit switching network.
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(c) Differentiate between full-duplex and
•  half duplex".

(d) Explain HDLC protocol.

(e) Write the advantages and disadvantages
of bus topology.

Answer the following questions: (any three)
10x3=30

(a) Explain in detail about TCP/IP protocol
suite with neat diagram.

(b) Explain in detail about periodic analog
and digital signals.

(c) Write a note on quadrature amplitude
modulation. Describe the quality of
service.

(d) Explain in detail about different phases
of virtual circuit networjc.

(e) Describe MAC. Draw the diagram.

(f) Explain UDP. How does UDP work ?
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OPTION-C

(Mobile Applications)

Paper : CSC-RE-6036

1. Answer the following questions as directed :
1^7=7

Wo s

(a) Which of the ifollowing is not an activity
lifecycle callback method ?

(.<p|»ic5l activity lifecycle call

back method ̂  ̂  ?

(i) ohClick () method

(ii) onCreate () method

(in) onStart () method

(iv) onBackPressed (.) method

(Choose the cofrect option)

(b) We cannot modify the VI from a
backgroiind thread.

(State true or false)

Background thread ̂  VI

(Sfliaifti (o^ermwl^)
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(c) In delegation event model, an event is
an ■ that describes a state change
in source. (Fill in the blank)

Deiegatioh event model ̂  event ̂

■  ■ " "to source^ state changei^

(d) All layout classes are subclasses of
android.view.View Group.

(State true or false)

layout class

android.view.View Group-^ subclass I

(m

(e) ^ is the primary programming
language for iOS. (Fill in the blank)

(f) Default v^ue of the orientation attribute
in linear layout is

Linear layout ̂  orientation attribute-^

(i) horizontal

(ii) vertic^

(Choose the correct option)
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(g) JSON stands for ._.(FiUmtheblank)

2. Define the following terms : 2x4=8

(a) Thread

(b) GPS

(c) VI

(d) SQLite

3. Answer anif three questions: 5x3=15

Rg^Ic^I /3p5y 21^ o

(a) Explain MVC.

(b) Explain different types of sensors
supported by Android.

Android *^1 sensor I

(c) Prepare a list of any five keywords of
objective-C.

Objective-C ̂  Rc^lal ̂ff^keyword-^
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(d) What are the lifecycle methods of
Aiidroid activity ?

Android activity-^ .life cycle method

■  ft?

(e) When do we need RESTful
programming ?

RESTful programming ^ ?

4. Answer any three of the following questions:
10x3=30

(a) What is HTTP ? Explain the functions of
different methods used in HTTP.

HTTP 1% ? HTTP C^Nl fiRjsi method

(b) Explain any two VI components used in
mobile applications.

Mobile application^

VI component-^ I

(c) What are the advantages of using SQLite
in mobile applications ? ̂

Mobile application ̂  SQLite <1J<1^14
1% ?
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(d) Differentiate between :

s.

(i) Android and iOS

(ii) Core graphics and Core animation

(e) Differentiate between :

(i) Cocoa and Cocoa Touch

(ii) Core data and SQLite

(f) Write short notes on : (any two)

(i) Keychain

(ii) JSON

(Hi) Xcode IDE ,
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OPTION-C

(Software Engineering)

Paper : TCA-RE-6036 /TIT-RE-6036

i. Answer the. following quiestions as directed:
.  1x7=7

ws 1wr

(a) In software engineering, engineering
principles-are applied to design a
software. (State true or false)

Software engineering ̂  engineering

software <ic«sl<li I

(b) Which of the following document

contadns user system requirements ?

system requirement

(i) SRD

(ii) ODD

(Hi) SDD

(iv) SRS

(Choose the correct option)
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(c) The full form of SDLC is _

(Fill in the blcmk)

SDLC?»l;#^^ _|

(d) The full form of SPMP is
(FiU in the blank)

SPMP^^»r^ 1

(e) ' Frequent changes in requirements may
be a reason for techniqai risk. .

(State true or false)

(f)' By whom is unit testing done ? •

unit testing

(i) Customer

(a) Developer

(Ui) None

(Choose the Qorrect option)
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(g) COCOMO is a cost estimation model.

(State true or false)

COCOMO

2. Define the following terms : 2x4=8

• (a) Prototyping model - .

(b) Function point

(c) ' Software risk

(d) DFD

3. Answer any three questions : 5x3=15

9m s .

(a) Briefly explain waterfall model.

Waterfall model ̂  ̂ 4^ 1wf I

(b) What are the components, of SRS ?

(c) What are the goals of software project
management ?

Software project 1% ?
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(d) Write a brief description of Delphi cost
estimation.

Delphi cost estimation ̂  I

(e) Define cohesion and coupling.

Cohesion coupling I

Answer any three .questions : 10x3=30

S.

(a) Explain software development life cycle
model.

Soiftware development life Cycle model

(b) Explain different , ways of requirement
gathering process.

Requirement

(c) Describe the organization of SPMP
document.

SPMP I
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(d) What are different kinds of risks in

software development ? Explain.

Software development ̂  risk

(e) Differentiate between : 5x2=10

. m Synchronous and asynchronous
DFD

(ii) Black box testing and White box^

testing

(f) Describe various attributes of software

quality.

Software ̂  I
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OPTION-D

IE-Commerce Technologies)

Paper : CSC-RE-6046 / TCA-RE-6046

1. Answer the following questions : 1^7=7

^5^ fet -

(a) Write the full form of http.

http ̂  •TTsrST I

(b) WhatisG2B?

G2B 1%?

(c) What does '.mil' signify?

'.mil' C?11% ?

(d) Define virus.

%rti •

(e) What language is used to create
webpage?

(f) Mention any one type of electronic
payment system.

^1

3(Sem-6/CBCS)CSC/TCA/TrrREl/2/3/4/G 19 Coutd.



(g) Mention one popularly used web
browser.

^  web browser-^ ̂  ^ I

.2. Answer the following questions : 2x4=8

(a) What do you mean by www ?

www -^Picei ft ̂ fSFl ?

(b) What is threat in E-commerce ?

E-commerce ̂  threat 1% ? •

(c) What is electronic fund transfer ?

(d) WhatisDES?

DESft?

3. Write short notes on the following :
three) 5x3=15

(a) Scope of E-commerce
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(b) Domain name

(c) Secret key cryptography

1% 1§p^'srrf%

(d) EDI model

EDI'^

- (e) Digital signature

k  Answer the following questions : (any three)
10x3=30

^5^ Iwf 1^ o (Rc^ic^i fopti^i)

(a) Briefly discuss the technical components
of E-cominerce.

^ I

(b) Briefly discuss the C2B, B2B and B2C
models of E-commerce.

G2B, B2B 'SIR: B2C

^lc<nlHl <^\ I
/  »

(c) What is privacy on internet? Briefly
discuss about computer crime.
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(>^<p/^Iccib-il I

(d) Briefly discuss the advantages of online
shopping? Discuss the E-cycle of

,  internet marketing.

E-cycle ̂Icql&Hl I

(e) Discuss about the planning of E-
commerce. What are the strategies for
development of E-commerce websites ?

^ I ^-^5^
tvoTlH <pR<i'^q 1% 1% C^1*tcT^WT^W

(f) Briefly discuss different types of
electronic payment system. Mention the
role of paperless bill.

3 (Sem-6/CBCS| CSC/TCA/Trf RE 1/2/3/4/G 22



OPTION-D

(Operating Systems)

Paper : TIT-RE-6046

1. Answer the following questions as directed:
1x7=7

(q) is the system call to create
a new process in POSIX.

(Fill in the blank)

system call

sitcti

(b) Each process has its own address space.
(State true or false)

gn:^5]<15 address space 1

(m

(c) All the threads in a process share a
common address space.

(State true or false)

thread 4 address

space^^mR^I

(d) First Come First Serve scheduling is
primarily used for interactive systems.

(State true or false)
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Ifiteractive system ̂  ̂ First Come

First Serve scheduling ^ I

(e) Sometimes segmentation and paging are

combined to provide a two-dimensional.

virtual memory. . . (State true or false)

segmentation paging

^ two-dimensioriai virtual memory £lW
(mc^'spQW^)

(f) Degree of multi-programming is less in

fixed partitioning system.

(State true or false)

Fixed portioning system ̂  multi

programming ̂ ^ I

(g) command is Used to change the

access permissions and the special mode

flags of file. (Fill in the blank)

■  "SIIPH ■ipfliSR access
permissions the special mode flag
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2. Define the following terms : 2x4=8

(d) Multiprogramming.

(b) Thread

(c) System call

(d) Paging

3. Answer any three of the following
questions: 5x3=15

^ ^r«iT s

(a)' What are different types of operating
system ? Give hrief introduction of each.

ft# ?

I

(b) What are the basic functions of an
operating system ?

(c) Give brief description of any tifo system
calls.

PiC<PM 5^ system call ̂  1

(d) What is virtual memory ? What are the
advantages of virtual memory ?

Virtual memory ft 1% ?
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(e) Write a shell script to display the

inultiplication table of any number.

shell script I

4. Answer any three of the following questions:

. _ 10x3=30

^ ̂ 9m s

(a) Define process and thread. What is the

advantage of implementing threads in

user space ? What is the disadv^tage ?

Process thread | User space

'  ̂ thread 1% ? 1% ? .

(b) Briefly explain any two non-preemptive

scheduling algorithm.

^ non-preemptive scheduling
algorithm-^ ^

(c) Write a shell script to accept a login
name. If not a valid login name display

message—Invalid login name'.

Login name shell script

\ login name Invalid login

name' <il^l <p^l I
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(d) Write a shell script to merge the contents
of three files, sort the contents and then
display them page by page.

<pR<i'lci ̂  shell

script ^ ̂  ^ I

(e) Briefly explain memory allocation
strategies.

Memoiy allocation C^l*l«ic<i1< I

(f) Explain the difference between internal
fragmentation and external
fragmentation. Which one occurs in
paging systems ? .

Internal fragmentation ̂ srt^" external
fragmentation-^ 1 Paging

system'^ C^FrSI ̂  ?
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